Subject: Re: oplot
Posted by R.Bauer on Tue, 16 Nov 1999 08:00:00 GMT

View Forum Message <> Reply to Message

Gwyn Fireman wrote:

R.Bauer (R.Bauer@fz-juelich.de) wrote:
: > > Who knows more about this error?

This happened to me when | was using USERSYM and had no points in the
current plot range. This behavior is supposed to have been fixed in IDL
5.2. I've been using this workaround:

IDL> and (y gt ly.crange[0]) and (y It y.crange[1]) )
IDL> oplot, x[clip], y[clip]

>
>
>
>
>
>
>
> IDL> clip = where( (x gt !x.crange[0]) and (x It Ix.crange[1]) $
>
>
>
>
> -- Gwyn F. Fireman

> -- General Sciences Corporation / MODIS Characterization Support Team
> -- Gwyn.Fireman@gsfc.nasa.gov 301-352-2118

Thanks,
it is a problem with the usersym.

I'll try to make an example.
My data is in the range.

R.Bauer
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